POLYWOOD

Intelligent Design™

Leg assemblies

Model: PST48
Step 1
Lay Table top upside down on a flat surface. Table top
Attach Leg assemblies to Table top using
(8) 3 1/4" Chair Bolts and nuts. Do not tighten.
Step 2
Attach Braces to Leg assemblies using
(4) 3" Lag bolts and washers.
Step 3
Set table upright and tighten all bolts

TOOLS NEEDED

Braces

7/16 Socket Drive or Wrench
4mm HEX KEY, ALLEN, T-HANDLE
(INCLUDED)

Qty. Description

4 1/4 FLAT WASHER

—1B-1/4 X3 HEX LAG SCREW

—

8 @" 1/4-20 FLANGE NUT

” A - 1/4-20 X 3-1/4 WAFER SHCS

8

11/29/2012

ASSEMBLY INSTRUCTIONS HARDWARE IS COATED STAINLESS UNLESS OTHERWISE SPECIFIED




